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General Instructions :

Read the following instructions carefully and follow them :

(i) This questions paper contains 30 questions. All questions are compulsory.
(it)  This question paper is divided into five sections — Sections A, B, C, D and E.
(iii) Section A — Questions no. 1 to 17 are multiple choice (MCQ) type questions.
(iv) Section B - Questions no. 18 and 19 are source based questions.

(v)  Section C - Questions no. 20 to 23 are Short Answer (SA) type questions.
Answer to these questions shall be written in 80 to 100 words.

(vi) Section D — Questions no. 24 to 28 are Long Answer (LA) type questions.
Answer to these questions shall be written in 120 to 150 words.

(vii) Section E — Questions no. 29 and 30 are Map based questions.

SECTION A

There are 17 Multiple Choice Questions in this section (. No. 1 - 17).
All questions are compulsory. 17x1=17

1. Which port acts as outport of Athens ?

(a)  Piraeus (b)  North Cape
(c) London (d) Hamburg
2. Which among the following factors is a push to compel migration ?

(a)  Better jobs

(b)  Better living conditions
(c) Peace and stability

(d)  Natural disasters

3. Which one of the following is not a base of international trade ?
(a)  Difference in national resources
(b)  Population
(c) Stage of economic development

(d) Climate of a country
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4, Which of the following feature is associated with the Demographic
Transition Theory ?

(a) Itis used to predict the future population of any area.

(b)  Itis used to bring down the future population of a country.
(c) It is used to adjust the fertility of any area.

(d) It is used for population composition.

5. Which one of the following is the feature of Mumbai harbour ?
(a) Itissituated at the entrance of the Zuari estuary.
(b) Itis aland-locked harbour.
(c) It is an artificial harbour.
(d) It is anatural harbour.

6. Which of the following is correctly matched ?

Name of the State Iron-ore Mining Centres
(a)  Odisha — Bailadila
(b)  Chhattisgarh — Badampahar
(c) Karnataka — Bellary
(d) Maharashtra — Mayurbhanj

7. Which one of the following is the main feature of Jawaharlal Nehru Port ?
(a) Itis the largest container port of India.
(b)  Konkan railway extended its hinterland.
(c) It exports iron-ore.
(d) Karnataka is the major hinterland to this port.

8. Identify the correct order of location from east to west for major copper
deposits of India.

(a)  Singhbhum, Balaghat, Jhunjhunu, Alwar
(b)  Alwar, Jhunjhunu, Balaghat, Singhbhum
(c) Singhbhum, Balaghat, Alwar, Jhunjhunu
(d) Balaghat, Alwar, Singhbhum, Jhunjhunu

9. Which of the following is the feature of Rural settlements in India ?
(a)  People are less mobile.
(b)  Way of life is complex.
(c) Social relations are formal.
(d)  Generally larger in size.
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10. Choose the correct option of Indian mining towns.
(a)  Ujjain, Haridwar, Varansasi
(b)  Raniganj, Jharia, Singrauli
(c) Prayagraj (Allahabad) Ambala, Amritsar
(d) Meerut, Babina, Kanpur

11. Kakrapara nuclear power project is located in which one of the following

State ?
(a) Maharashtra (b)  Gujarat
(¢) Karnataka (d) Tamil Nadu

12. Consider the following statements and choose the most appropriate
option :

Statement I:  International Trade is the exchange of goods and
services among countries across national boundaries.

Statement I : Countries need to trade to obtain commodities they do
not produce themselves.

Options :

(a)  Only Statement I is correct.

(b)  Only Statement II is correct.

(c) Both the Statement I and II are incorrect.

(d) Both the Statements are correct and Statement II correctly
presents the reason for Statement I.

13. Study the following statements and choose the most appropriate option :
Assertion :  Fertile loamy soil areas have more people living on them.
Reason : These soils are the base of intensive agriculture.

Options :

(a)  Only Assertion is correct.

(b)  Only Reason is correct.

(c) Both Statements are correct. Reason correctly explains Assertion.

(d) Both Statements are correct, but not related to each other.
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14. Study the following statements and choose the most appropriate option :

Assertion : Sometimes settlement is fragmented into several units
physically separated from each other bearing a common
name.

Reason : This segmentation of a large village is often motivated by
social and ethnic factors.

Options :

(a)  Only Assertion is correct.

(b)  Only Reason is correct.

(c) Both Statements are correct. Reason correctly explains Assertion.

(d) Both Statements are correct, but not related to each other.
Read the given source and answer Q. No. 15 to 17.

The Border Road Organisation (BRO) was established in May 1960 for
accelerating economic development and strengthening defence
preparedness through rapid and coordinated improvement of strategically
important roads along the northern and north-eastern boundary of the
country. It is a premier multifaceted construction agency. It has

constructed roads in high altitude mountainous terrain joining Chandigarh
with Manali (Himachal Pradesh) and Leh (Ladakh). This road runs at an

average altitude of 4,270 metres above the mean sea level.

Apart from the construction and maintenance of roads in strategically
sensitive areas, the BRO also undertakes snow clearance in high altitude
areas. The international highways are meant to promote the harmonious
relationship with the neighbouring countries by providing effective links
with India.

15. Which one of the following is the main objective of ‘Border Road
Organisation’ ?
(a)  To connect border cities to nearby metropolitan cities.
(b)  To help hilly areas in educational development.
(c) To strengthen defence preparedness.

(d)  To plan for the development of border areas.
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16. Why is it very difficult to construct roads on the north-eastern border of
India ? Choose the correct option :
I. Relief features
I1. Climate
III. Lack of infrastructure
IV. Lack of money
Options :
(a) Only I, IT and III are correct.
(b)  Only II, IIT and IV are correct.
(c) Only I, III and IV are correct.
(d) OnlyI, II and IV are correct.

17.  Under which of the following does Border Road Organisation work ?
(a)  Central Government
(b)  Border States Governments
(c) Local Self-Governments
(d) Non-Governmental Organisations

SECTION B

Questions number 18 and 19 are Source-based Questions.
18. Read the given passage carefully and answer the questions that follow : 3x 1=3

There is a wide scope to use rainwater harvesting technique to
conserve precious water resource. It can be done by harvesting rainwater
on rooftops and open spaces. Harvesting rainwater also decreases the
community dependence on groundwater for domestic use. Besides
bridging the demand-supply gap, it can also save energy to pump
groundwater as recharge leads to rise in groundwater table. These days
rainwater harvesting is being taken up on a massive scale in many states
in the country. Urban areas can specially benefit from rainwater
harvesting as water demand has already outstripped supply in most of
the cities and towns.

Apart from the above mentioned factors, the issue of desalinisation of
water, particularly in coastal areas and brackish water in arid and
semi-arid areas, transfer of water from water-surplus areas to
water-deficit areas through interlinking of rivers can be important
remedies for solving the water problem in India.
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(18.1) How can rainwater harvesting be done ? 1
(18.2) How can rainwater harvesting help in saving energy in pumping
groundwater ? 1
(18.3) Explain any one positive outcome of interlinking of rivers Zin
India. —+—=1
2 2
19. Study the given map and answer the following questions. 3x1=3
60° 150° 30°
o/ 0y
A
£ |
P : > 60°
S
L 7
'l ~
; \ '
Vanoou\)e; Kﬁloops Calgary
Victoria o
. b N v A
T N Winnipeg
- .\'i‘w.--’ Dy e '."‘.".;;-t.sydney
! \'\~. e t‘! ontr}al { 6 Haiex
\ ; /Ottawa A
km333 0 333  666km / /—(
5 —_— o - »
120 90 60
(19.1) Name the Railway line given in the map.
(19.2) Name the stations marked as A and B.
(19.3) Explain any one economic significance of this railway line.
Note: The following questions are for the Visually Impaired Candidates
only in lieu of Q. No. 19.
(19.1) Name the largest railway line of North American continent.
(19.2) Name the terminal stations of Trans-Siberian Railway.
(19.3) Explain any one economic significance of the Trans-Siberian
Railway.
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SECTION C

Questions number 20 to 23 are Short Answer Type Questions.

20. (a) “The period from 1901-1921 is referred to as a period of stagnant
phase of growth of India’s population.” Support the statement with
examples. 3

OR

(b)  “The decades 1921-1951 are referred to as the period of steady
population growth of India.” Support the statement with examples.

21. Examine the classification of industries based on ownership in the world.
22, (a) Explain the concept of ‘Equity’ as a pillar of human development.
OR

(b) Why do some countries have medium level of human development ?
Explain. 3

22. Explain any three features of Urban Settlements in India.

SECTION D

Questions number 24 to 28 are Long Answer Type Questions.

24. Define the term ‘Transport’. Describe the importance of transport in the

modern times. 1+4=5
25. Analyse any five objectives of ‘Namami Gange Programme’. 5
26. (a) “Gathering has become commercial in modern times.” Examine the
statement. 5
OR
(b)  “Nomadic herding is a primitive subsistence activity.” Examine the
statement. 5

27. Explain how geography, as a field of study, is integrative, empirical and
practical. 5

28. (a) Analyse the ‘Dependence on Erratic Monsoon’ as a problem of

Indian Agriculture. 5
OR
(b)  Critically analyse the ‘Vast Underemployment’ as a problem of
Indian Agriculture. 5
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(29.1) 3ThIehT TETEIT o G101 o fohell Teh TraTel! ISEIUT & 1 AW foAfE |
(29.2) cfewr smfer & ufvadft qe W foa forelt v v wgdl-uee &1 am

fetfem |
(29.3) U2 forea & forelt U yq@ gams-ua= 1 a9 fafaw |
(29.4) TTE-ATESTEA WWHE o god ufverft R o e wem &1 am fafey |
(29.5) IR IR ARG o HaH Fg ¢ h1 AW AT |
(29.6) 3TTATEH HETEANR i T HEETR & S Tt TaL b1 A fafau |
(29.7) cfegur emfeh HeEgY & Tt wh aifisy uyed oM & &1 ™
ferfaa |
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SECTION E

Questions number 29 and 30 are Map-based Questions.

29. On the given political outline map of the World (on page 21), seven
geographical features have been marked as A, B, C, D, E, F and G.
Identify any five with the help of the following information and write

their correct names on the lines drawn near them : 5x1=5
A. A major area of nomadic herding

B. A major sea-port

C. A major airport

D. Terminal station of eastern end of Trans-Siberian Railway

E. The largest country of Europe

F. A shipping canal

G. An area of commercial livestock rearing

Note: The following questions are for Visually Impaired Candidates only
in lieu of Q. No. 29.

Answer any five questions out of the following : 5x1=5

(29.1) Name any one area of nomadic herding of south of African

continent.

(29.2) Name any one major sea-port located on western coast of South
America.

(29.3) Name any one major airport of Great Britain.

(29.4) Name the western-most terminal station of Trans-Siberian
Railway.

(29.5) Name the largest country of North American continent.
(29.6) Name the canal linking the Atlantic and Pacific Oceans.

(29.7) Name any one area of commercial livestock rearing of the South
American continent.

64/C/1 17 P.T.O.
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30. WRA % U MU ToHifaeh {@I-AHEA (I8 23 W), ¥ FfaRad @ Hiifees
avi B ¥ el gier i I sl g sifera hifee ik 3k 9 faaflew : 5x1=5
(30.1) HaE 3fereh TTHEAT Tcd ATl TS
(30.2) At H feor 10 fuferm @ 21ferss @@ aren 7R
(30.3) T 1 U IcqTEH TS
(30.4) BT — qfsl I @H
(30.5) HoEl — et hl @H
(30.6) ofifesn ® feord wggl-aoH
(30.7) 1EW # foyd TaUyia gaE-uaq

FiZ:  HElET J97 Fac gEETaT wdienfel & g v G 30 F T |

&1
et § @ @21 aier 3o71 & 3w Fifae : 5x1=5

(30.1) HaE 3fereh TTEEAT Tcd It T 61 A1 fafEgu |

(30.2) Wdlesh H TEod H TR 1 AW foifae |

(30.3) T % 3mUfl IcUTEH U h1 A fAfEu |

(30.4) TIET qisl hl @TH fohd TSI | B 2

(30.5) ol il hl @H FhH TSI H & 2

(30.6) ofifem # feord yg@ wggl-uaa &1 AW fafeaw |

(30.7) TEW H AT §ITE-U<H hal d g ?
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30. On the given political outline map of India (on page 23), locate and label

any five of the following seven geographical features with appropriate

symbols : 5x1=5
(30.1) The state with the highest level of population on density

(30.2) A city of more than 10 million population located in Karnataka

(30.3) The leading sugarcane producing state

(30.4) Hazaribagh — Copper mines

(30.5) Neyveli — Coal mines

(30.6) Sea-port located in Odisha

(30.7) International airport located in Assam

Note: The following questions are for Visually Impaired Candidates only
in lieu of Q. No. 30.

Answer any five questions out of the following : 5x1=5
(30.1) Name the state with the highest level of population density.
(30.2) Name the mega city located in Karnataka.
(30.3) Name the leading sugarcane producer state.
(30.4) In which state are Hazaribagh copper mines located ?
(30.5) In which state are Neyveli coal mines located ?
(30.6) Name the major sea-port located in Odisha.
(30.7) Where is the international airport located in Assam ?
64/C/1 19 P.T.O.
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For question no. 29
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For question no. 30
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Outline Map of India (Political)
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Marking Scheme
Strictly Confidential
(For Internal and Restricted use only)
Senior Secondary School Supplementary Examination, July- 2023
SUBJECT NAME: GEOGRAPHY SUBJECT CODE (029) PAPER CODE 64/C/1
General Instructions: -

1 You are aware that evaluation is the most important process in the actual and correct
assessment of the candidates. A small mistake in evaluation may lead to serious problems
which may affect the future of the candidates, education system and teaching profession. To
avoid mistakes, it is requested that before starting evaluation, you must read and understand
the spot evaluation guidelines carefully.

2 “Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to
public in any manner could lead to derailment of the examination system and affect the
life and future of millions of candidates. Sharing this policy/document to anyone,
publishing in any magazine and printing in News Paper/Website etc may invite action
under various rules of the Board and IPC.”

3 Evaluation is to be done as per instructions provided in the Marking Scheme. It should not be
done according to one’s own interpretation or any other consideration. Marking Scheme
should be strictly adhered to and religiously followed. However, while evaluating, answers
which are based on latest information or knowledge and/or are innovative, they may be
assessed for their correctness otherwise and due marks be awarded to them. In class-
Xll, while evaluating two competency-based questions, please try to understand given
answer and even if reply is not from marking scheme but correct competency is
enumerated by the candidate, due marks should be awarded.

4 The Marking scheme carries only suggested value points for the answers.These are in the
nature of Guidelines only and do not constitute the complete answer. The students can have
their own expression and if the expression is correct, the due marks should be awarded
accordingly.

5 The Head-Examiner must go through the first five answer books evaluated by each evaluator
on the first day, to ensure that evaluation has been carried out as per the instructions given in
the Marking Scheme. If there is any variation, the same should be zero after delibration and
discussion. The remaining answer books meant for evaluation shall be given only after
ensuring that there is no significant variation in the marking of individual evaluators.

6 Evaluators will mark( v ) wherever answer is correct. For wrong answer CROSS ‘X’ be
marked. Evaluators will not put right ( v )while evaluating which gives an impression that
answer is correct and no marks are awarded. This is most common mistake which
evaluators are committing.

7 If a question has parts, please award marks on the right-hand side for each part. Marks
awarded for different parts of the question should then be totaled up and written in the left-
hand margin and encircled. This may be followed strictly.

8 If a question does not have any parts, marks must be awarded in the left-hand margin and
encircled. This may also be followed strictly.
9 If a student has attempted an extra question, answer of the question deserving more marks

should be retained and the other answer scored out with a note “Extra Question”.
10 No marks to be deducted for the cumulative effect of an error. It should be penalized only

once.

11 A full scale of marks 70 (example 0 to 80/70/60/50/40/30 marks as given in
Question Paper) has to be used. Please do not hesitate to award full marks if the answer
deserves it.
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12 Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours
every day and evaluate 20 answer books per day in main subjects and 25 answer books per
day in other subjects (Details are given in Spot Guidelines).

13 Ensure that you do not make the following common types of errors committed by the
Examiner in the past:- Giving more marks for an answer than assigned to it.

e Wrong totaling of marks awarded on an answer.

e Wrong transfer of marks from the inside pages of the answer book to the title page.
Wrong question wise totaling on the title page.

e Leaving answer or part thereof unassessed in an answer book.

Wrong totaling of marks of the two columns on the title page.

Wrong grand total.

Marks in words and figures not tallying/not same.

Wrong transfer of marks from the answer book to online award list.

Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is
correctly and clearly indicated. It should merely be a line. Same is with the X for incorrect
answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

14 While evaluating the answer books if the answer is found to be totally incorrect, it should be
marked as cross (X) and awarded zero (0)Marks.

15 | Any un assessed portion, non-carrying over of marks to the title page, or totaling error
detected by the candidate shall damage the prestige of all the personnel engaged in the
evaluation work as also of the Board. Hence, in order to uphold the prestige of all concerned,
it is again reiterated that the instructions be followed meticulously and judiciously.

16 | The Examiners should acquaint themselves with the guidelines given in the “Guidelines for
spot Evaluation” before starting the actual evaluation.

17 Every Examiner shall also ensure that all the answers are evaluated, marks carried over to
the title page, correctly totaled and written in figures and words.

18 The candidates are entitled to obtain photocopy of the Answer Book on request on payment
of the prescribed processing fee. All Examiners/Additional Head Examiners/Head Examiners
are once again reminded that they must ensure that evaluation is carried out strictly as per
value points for each answer as given in the Marking Scheme.
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MARKING SCHEME
SUPPLIMENTRY EXAMINATION 2023
SUBJECT- GEOGRAPHY (029)

PAPER CODE-64/C/1

SET-1
MM-70
Q EXPECTED ANSWERS/VALUE POINTS Page Distri
No. no in | bution
TB of
marks
SECTION -A
Question no. 1-17 are MCQs
(a) Piraeus
1. TB-I 1
Pg 75
(d) Natural disasters
2 TB-1 1
Pg10
(d) Climate of a country
3 TB-1 1
Pg72
a) It is used to predict the future population of any area.
4 (a) p pop y TB.1 1
Pgl10
(d) It 1s a natural harbour
5 TB-I1 1
Pg 90
(c) Karnataka -Bellary
6 TB-I1 1
Pg 56
(a) It is the largest container port of India. TB-11
7 Pg 90 1
(c) Singhbhum, Balaghat, Alwar, Jhunjhunu
8 TB-I1 1
Pg 58
(a) People are less mobile.
9 TB-I1 1
Pg 15
b) Raniganj, Jharia, Singrauli
10 ®) san) g TB-II 1
Pg 19
(b) Gujarat
11 TB-11 1
Pg 61
(d) Both the Statements are correct and Statement I1
12 correctly presents the reason for Statement I. I”FgB’;IO 1
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(c) Both Statements are correct. Reason correctly explains
13 | Assertion. TB-1 1
Pg. 8
(c) Both Statements are correct. Reason correctly explains
14 | Agsertion. TB-1II 1
Pg.16
(c) To strengthen defence preparedness. TB-11
15 Pg.77& 1
78
(a) Only I, IT and III are correct. TB-1I
16 Pg.77& 1
78
(a) Central Government
17 TB-I1 1
Pg.77&
78
SECTION B
18 (18.1) How can rainwater harvesting be done ?
It can be done by harvesting rainwater on rooftops
and open spaces . 1
(18.2) How can rainwater harvesting help in saving
energy in pumping groundwater ?
Recharge of the groundwater leads to raise the
groundwater table . It save energy to pump
ground water to the surface. 1
(18.3) Explain any one positive outcome of TB-II
interlinking of rivers in India. _
Pg. 47 | 3x1=3
- It helps in transfer of water from water surplus
areas to water deficit areas .
1
19 (19.1) Name the Railway line given in the map.
Trans-Canadian Railway line 1
(19.2) Name the stations marked as A and B.
Station-A- Regina 1/2 +1/2=1
Station- B -Cudbury
(19.3) Explain any one economic significance of this
railway line.
1. It connects Quebec-Montreal Industrial region with TB-1
the wheat belt of the Prairie region. Pg.59 | 3x1=3

4
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1. This line is the economic artery of Canada . 1
iii Any other relevant point

(Any one point to be explained)

Only For Visually Impaired Candidates

(19.1) Name the largest railway line of North
American continent.

-  Trans-Canadian Railway line 1

(19.2) Name the terminal stations of Trans-Siberian
Railway.

- St. Petersburg and Vladivostok 1/2+1/2=1

(19.3) Explain any one economic significance of the | TB-I
Trans-Siberian Railway.

Pg, 3x1=3
i It has opened up the Asian regions to West European | 59&6
markets .
11 Any other relevant point 1

(Any 1 points to be explained)

SECTION-C
20 to 23 are Short Answer Type Questions.

20 (a) “The period from 1901 - 1921 is referred to as a
period of stagnant phase of growth in India’s
population.” Support the statement with examples.

1. In this period growth rate was very low,recording a
negative growth rate during 1911-1921.

11. Both the birth rate and death rate were high keeping
the Growth rate low .

111. Poor health and medical services, illiteracy of people
at large and inefficient distribution system of food
were responsible.

1iv Lack of basic necessities were largely responsible for a
high birth and death rates in this period.

5
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v. Any other relevant point
, , TB-II 3x1=3
(Any three points to be explained)
Pg. 7
OR

(b) “The period from 1921 - 1951 is referred to as a
period of steady population growth in India.”
Support the statement with examples.

1. An overall improvement in health and sanitation
throughout the country brought down the mortality rate.

11. Better transport and communication system improved
distribution system.

111. The crude birth rate remained high in this period
leading to higher growth rate than the previous phase.

iv. This is impressive at the backdrop of Great Economic
Depression of 1920s and World War II.

v. Any other relevant point
TB-I1 3x1=3

(Any three points to be explained) Pe. 7
g.

21 Examine the classification of industries based on

ownership in the world.

1. Public Sector Industries are owned and managed by
governments. In India, there were a number of Public
Sector Undertakings (PSUs). Socialist countries have
many state owned industries. Mixed economies have
both Public and Private sector enterprises.

1. Private Sector Industries are owned by individual
investors. These are managed by private
organisations. In capitalist countries, industries are
generally owned privately.

1i.Joint Sector Industries are managed by joint stock
companies or sometimes the private and public
sectors together establish and manage the
industries.

TB-1 3x1=3

(Examine all the above three types) Pg. 42

6
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(a) Explain the concept of ‘Equity’ as a pillar of

22 | human development .

i. Equity refers to making equal access to opportunities
available to everybody.

ii. The opportunities available to people must be equal
irrespective of their gender, race, income and caste.

iii. In India a large number of women and persons
belonging to socially and economically backward
groups dropout of the schools. This shows how the
choices of these groups get limited by not having access
to knowledge.

TB-I 3x1=3

iv. Any other relevant point. Pg. 16

(Any three points to be explained.)
OR
(b) Why do some countries have medium level of
human development ? Explain.

i. Most of these are countries which have emerged in the
period after the Second World War.

ii. Some countries from this group were former colonies.

iii. Many countries have emerged after the break up of
the erstwhile Soviet Union in 1990.

iv. To rapidly improve their human development score
these countries have adopting more people-oriented
policies.

v. These countries are also reducing social discrimination.

vi. Most of these countries have a very high social
diversity.

vii. Many countries have faced political instability and
social uprisings at some point of time in their recent
history.

viii. Any other relevant point. TB-1
3x1=3
(Any three points to be explained.) Pg. 19

7
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Explain any three features of urban settlements
23 in India.

i. Urban settlements are generally compact and larger
in size.

ii. They are engaged in a variety of non- agricultural,
economic and administrative functions.

iii. They are functionally linked to rural areas around
them.

iv. Cities are directly as well as indirectly connected
with the villages and also with each other.

TB-I1 3X1=3
v. Any other relevant point. Pg. 17

(Any three points to be explained.)

SECTION -D
24 to 28 are Long Answer Type Questions.
Define the term ‘Transport’. Describe the
importance of transport in the modern times.

24

Transportation is a service or facility for the carriage of
persons and goods from one place to another. 1

Importance of Transport

i. Modern society requires speedy and efficient transport
systems to assist in the production, distribution and
consumption of goods and services.

ii. At every stage in the complex system the value of the
material is significant /enhanced by the transport system.

iii. In the selecting the modes of transport, distance in
terms of time and cost is the determining factor.

iv. Every nation has developed various kinds of
transportation for defence purposes.

v. Assured and speedy transportation, along with

efficient communication, promote cooperation and unity | pg_1 1+4=5
among scattered peoples. Pg. 14
vi. Any other relevant point 4x1=4

(Any four points to be described)

8
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25 Analyse any five objectives of ‘Namami Gange

Programme’.

The Union Government has launched the ‘Namami
Gange Programme’ with the following objectives:

i. Developing sewerage treatment systems in towns,

ii. Monitoring of industrial effluents,

iii. Development of river front,

iv. Afforestation along the bank to increase biodiversity,
v. Cleaning of the river ,

vi. Development of ‘Ganga Grams’ in Uttarakhand, UP,
Bihar, Jharkhand and West Bengal, and

vii. Creating public awareness to avoid adding pollutants
In to the river even in the form of rituals.

. . TB- 5x1=5
viii. Any other relevant point IIPg. 97

(Any five points to be analyzed)

26 (a) ‘Gathering has become commercial in modern

times’. Examine the statement.

i. Gathering is practised in high latitude zones which
include northern Canada, northern Eurasia and
southern Chile.

ii. Low latitude zones such as the Amazon Basin,
tropical Africa, Northern fringe of Australia and the
interior parts of Southeast Asia.

iii. In modern times some gathering is market oriented
and has become commercial.

iv. Gatherers collect valuable plants such as leaves,
barks of trees and medicinal plants and after simple
processing sell the products in the market.

9
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v. They use various parts of the plants, for example, the a

bark is used for quinine, tannin extract and cork— TB-1 5x1=5

: Pg. 23

leaves supply materials for beverages, drugs,

cosmetics, fibres, thatch and fabrics; nuts for food and

oils and tree trunk yield rubber, balata, gums and

resins.

vi. Any other relevant point
(Any five points to be examined)

(b) ‘Nomadic herding is a primitive subsistence
activity’. Examine the statement.

i. Nomadic herding or pastoral nomadism is a primitive
subsistence activity, in which the herders rely on
animals for food, clothing, shelter, tools and transport.

ii. They move from one place to another along with their
Livestock, depending on the amount and quality of
pastures and water.

iii. Each nomadic community occupies a well-identified
territory as a matter of tradition.

iv. A wide variety of animals is kept in different regions.

v. In tropical Africa, cattle are the most important
livestock, while in Sahara and Asiatic deserts, sheep,
goats and camel are reared.

vi. In the mountainous areas of Tibet and Andes, yak and
llamas and in the Arctic and sub Arctic areas, reindeer
are the most important animals.

vii. Any other relevant point TB-I

Pg. 24 | 5x1=5
(Any five points to be examined)
Explain how geography, as a field of study, is
27 integrative, empirical and practical.

i. The reach of geography is extensive and each and

every event or phenomenon which varies over space and

time can be studied geographically.

ii. The earth comprises two major components: nature

(physical environment) and life forms including human

beings.

10
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iii. Physical geography studies physical environment and
human geography studies the relationship between the
physical/matural and the human worlds, the spatial
distributions of human phenomena and how they come
about, the social and economic differences between
different parts of the world.

iv. The core concern of geography as a discipline is to
understand the earth as home of human beings and to
study all those elements which have sustained them.
Thus, emphasis i1s on study of nature and human
beings.

v. Geography got subjected to dualism and the wide-
ranging debates started whether geography as a
discipline should be a law making/theorising
(nomothetic) or descriptive (idiographic).

vi. Any other relevant point

Any five points to be explained
(Any five p P ) TBI | 5x1=5
Pg. 1

28 (a) Analyse the ‘dependence on erratic Monsoon’ as

problem of Indian agriculture.

Dependence on Erratic Monsoon

i. Irrigation covers only about 33 per cent of the
cultivated area in India. The crop production in rest of
the cultivated land directly depends on rain.

ii. Poor performance of south-west monsoon also
adversely affects the supply of canal water for
irrigation. On the other hand, the rainfall in
Rajasthan and other drought prone areas is too
meagre and highly unreliable.

iii. The areas receiving high annual rainfall experience
considerable fluctuations. This makes them vulnerable
to both droughts and floods.

iv. Drought is a common phenomenon in the low rainfall
areas, which may also experience occasional floods.
The flash floods in dry lands of Maharashtra, Gujarat TB-1I
and Rajasthan in 2006 and 2017 are examples of this Pg.37 | 5x1=5
phenomenon.

11
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v. Droughts and floods continue to be the twin menace in
Indian agriculture.

vi. Any other relevant point
(Any five points to be analyzed)
OR
(b) Critically analyse the ‘vast underemployment’

as a problem of Indian agriculture.

There 1s a massive underemployment in the agricultural

sector in India, particularly in the unirrigated tracts. In TB-II
these areas, there is a seasonal unemployment ranging
from 4 to 8 months. Even in the cropping season, work is Pg. 38

not available throughout as agricultural operations are
not labour intensive. Hence, the people engaged in
agriculture do not have the opportunity to work round the
year.

(To be assessed as a whole)

SECTION -E
Q29.

Map based questions

(See attached filled Map)
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For question no. 29
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Only for Visually Impaired Candidates (Attempt any five)
29.1 South Africa/ Madagascar 5x1=5

29.2 Callao/ Valpariso
29.3 London/ Birmingham
29.4 St. Pertersburg

29.5 Canada

29.6 Panama

29.7 Argentina/ Uraguay
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30.

Map
T H. 30 ¥ fu 64cll, 64(c|2, é4fc3 For question no. 30
e WA 1 @t (i)
._\"E:L_H o f-"'“*? Outline Map of India (Political)

ATTEMPT ANy [FIVE, sxl = 5

Only for Visually Impaired Candidates

(Attempt any five)

30.1 Bihar

30.2 Bengaluru
30.3 Uttar Pradesh
30.4 Jharkhand
30.5 Tamil Nadu
30.6 Paradwip

30.7 Guwahati

5x1=5
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